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-« The sample space describes ali of the possible of an
event.
-« Sample space can be with lists, tables, or tree diagrams
. fo determine the probability of or events.
he New England Patriots and the Dallas Cowboys are playing. What are the possible
utcomes of the game?
Y number cube is rolied. What are the possible outcomes?
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i For breakfast Jamie can choose from 4. At registration a student can select from

; cereal, eqgs, or a muffin. She also can Spanish or German class, as well as Art,

| was | drink coffee, orange juice, or milk. What Music, or Theater. What are all the possible

| =3 | are all the possible outcomes? How many outcomes? How many total outcomes are

o0

1 «C | fotal outcomes are possible? possible?
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; £ fair coinis tossed three times. What are all the possible outcomes? How many totai

i teomes are possible?
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eate a list. Then, use the information to answer the question.

€. Amando will roll o number cube and flip o 7. The two sfiliriers Below are sprn of e

oin. If Amanda rolis the number cube once 3ame time. What are ofl the posaibls outcomes
ind Tlips the coin once, then what are the of the two spins?

possibie outcomes in which the number cube

ands on an odd number ?
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Create a tree diagram. Then, use the information to answer the questions.

8. A clothing line has shirts in red, bive, or 9. When buying a car, Esther can choose a 2-
white and pants in gray or khaki door or 4-door car with leather or cloth

interiors in black, silver, or white.

Q. How many different combinations can be a. How many different combinations can be

made with the clothing line? made with the car options?

b. How would adding a green shirt to the b. The car dealership discontinues the cloth

clothing line change the tree diagram above? interiors on that model. How would thot

How would that change the number of possible | change the tree diagram above and the

outcames? Justify your thinking. number of possible cutcomes? Justify your
thinking.

Summarize today’s lesson:

OMareuvering the Musde |



Name

Date Pd

CAMPLE GPACE

Fhe number Cube

s rolled and a coin is fossed. Answer the questions below.
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welch o tree diagram to represent the

samgie spgace
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2. How many different combinations cre

possible”

3. Which list contains only the outcomes ir
which the number cube londs on g number
less than 47
List 1

1, heads

1, tails

2, heads

2, tails

3, heads

3, tails

List 2 List 3
1, heads
2, heads
3, heaas
4, heads

Arzwer the questions below.

4 CSketch a tree diagram to represent the
sample space of flipping each of the
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5. Jason is ordering a kids meal. He can
choose from the following:

« Chicken nuggets, burger, hot dog
le juice or milk

. Aop,e“_ﬁg mull ' One

» French fries or fruit

The list below shows some of the possible

outcomes. L ist the missing possible outcomes

below.

Chicken

nuagets, appie juice, French fries
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£ /W oo red and yeliow counter and | Chicken nuggets, appie juice, Trufl
. o e Chicken nuagets milk French fries
0. g spinner absled A iff Tyraflips the Chicken nuggets, milk, F rench fries
‘ §i o N - . . il "
rter and spins the spinner, 1hen iist only Lhicken nuggels, mik, irui
rs Flo Al FLow nored counter and a gurger, apple hnce, t rench fries
- Burger, milk, French fries
Burger, apple iwce, Trut
i Hot dog, oppile juice, f rench fries
! Hot dog, milk F rench fries
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